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Subtraction (Vertical) Name:
Solve each problem. Answers
1.
) 79 2 5,504 3 5,651 4 402
- 31 - 9 - 654 - 5 2
3
4,
5 820 6 33 7 915 8) 4,465 >
-577 i - 785 - 8 6
7.
8.
9 11 10) 9,348 1) 515 12) 79 S.
- 2 - 37 - 502 -73
— — B 10.
11.
12.
13) 2,379 14) 533 15 75 16) 757 13,
- 62 - 4 - 2 - 39
- - 14.
15.
16.
17) 6,289 18) 2,187 199 9,930 200 2,657 17
- 7 -1,127 - 453 —_2,552
18.
19.
20.
1-10 [95]90[85][80[75] 70] 65] 60 [ 55 [ 50
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Subtraction (Vertical) Name: Answer Key
Solve each problem. Answers
N 48
) 79 2 5,504 3 5651 4 402
-31 -9 - 654 -5 » 5495
A8 5 495 4,997 397
3 4,997
4 397
5 820 6 33 7 915 8 4,465 > 243
- 577 -2 - 785 - 8 . 31
243 31 130 4, 457
- 130
8 4,457
9 11 100 9 348 1) 515 12) 79 0, 9
-2 . 37 - 502 -73 o 9311
9 9,311 13 6
11, 13
12, 6
13) 2,379 14) 533 15 75 16) 757 13, 2,317
- 62 - 4 -2 - 39
2 317 529 73 718 4. 929
15. 73
. 718
17) 6,289 18) 2,187 19 9,930 200 2,657 7 6,282
; 7 -1,127 - 453 - 2,552
6,282 1,060 9,477 105 18, 1,060
o 9477
20. 105
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraction (Vertical) Name:
Solve each problem. Answers
4,457 48 6 31 13
5,495 397 4,997 9 130 1.
243 9,311
2.
) 79 2) 5,504 3 5,651 3.
-31 - 9 - 654
- E— 4,
5.
6.
7.
4 402 5 820 6) 33
- 5 -577 - 2 8.
9.
10.
11.
7 915 8 4,465 9 11 12.
- 785 - 8 - 2
10) 9,348 1) 515 1279
- 37 - 502 -73
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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